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Total score/%eT JTHT =




10QB - Part 11

ROLL NO.
SECTION A /@S A
Q. Q.
No. a c d | No. a ¢ d
1 4 12. s
2. s |13
3 s 14. s
4. 15.
5. 16.
6. s |17
7. s 18.
8. 19. s
9. 20. Vs
10. J |2y
1. | s
Not
Y attempted/
ERICERCRI]
Section A/GS Al 3X-Y=
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ROLL NO.

SECTION B ©E B
CELL BIOLOGY / Sf3tert AferehY (15.5 POINTS/2ieR)

22. (2 points/37eh)

(A)
a b. c d
v
(B)
a b. c d
v
23. (2 points/3ih) Answer/3T: 7350

24. (3 points/37eh)
Pp: B Q: A

25. (3 points/37eh)

a. b. c. d.
True / @&t V4
False /TTqd | v v
26. (3.5 points/3ieh)
iv y | i , | Vi | 1 » | Vi iii
27. (2 points/3ich)
a. b. c. d.
True / @1 v v V4

False / TTeld v
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ROLL NO. — -

PLANT SCIENCES / uteq {31 (12 points/3ie)

28. (6 points/37eh)
(A) Experiment 1: Mutation of class A genes and coupling of promoter for gene A to gene C/a=mT
1: T A o ST H SeqEd 3T ST A 6 C 3 SIThI T ATSH |

Whorl 1/ 1 | Whorl 2/ad | Whorl 3/ac1d | Whorl 4/dc1
2 3 4
Gene/s transcribed/ ﬂﬂ@l‘%ﬁ St B B
C C C C
Phenotype/ TIET Carpels Stamens Stamens Carpels

(B) Experiment 2: Mutation of class B genes/ST 2: a1t B & ST 8 Scafiad

Whorl 1/ 1 | Whorl 2/d1 | Whorl 3/d7 | Whorl 4/
2 3 4
Gene/s transcribed/ 3@@‘%?[ --- -
Rkl A A C C
Phenotype/ HiEou) Sepals Sepals Carpels Carpels

(C) Experiment 3: Mutation of class C genes and coupling of promoter for gene C to gene A./IFT
3: 3 C & ST A Icafad TR ST C o 3+ &1 ST A 8 S|

Whorl 1/ 1 | Whorl 2/dc@ | Whorl 3/a7d | Whorl 4/dcd
2 3 4
Gene/s transcribed/ 3"1':!)@'@?[ B B
St A A A A
Phenotype/ e Sepals Petals Petals Sepals

29. (2 points/37eh)
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ROLL NO. — -

30. (4 points/3Th)

A v
B: m
C: i
D: 1

ANIMAL SCIENCES / 5iq {3311 (18.5 points/2ieh)

31. (4 points/3ik)

Female Human/Ma Otel:  d Male Himalayan rabbit /fEATeR T-3191h: b

Female house mouse/ﬂi?[\ HIQ-HYh: _a Female rat snake/HTeT {&-810: ¢

32. (4 points/37eh)
a. Asthma/cHT: 11
b. Exercise/sI™M™: 1

Panting/gT&T: v
d. Blowing a balloon (activity of inflating a balloon)/TTssl L g W I
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ROLL NO.

33. (6 points/3Tk)

Situation/q3MT Factor affected Value of this factor will | Breathing effort
(Options: L/ N /r | (Options: (Options:
/None) increase/decrease/no increase/decrease/no
guTfea wRE change) change)
Frerea: L/ n/
r/aﬁé‘ &l )
TH Tk Rl AT
(Fererea: IgTm/EET/RE
qREd & gR)
e & & T
(FRrerea:@em/aeT/®E
iEd= & gRm)
L. Person sitting in a closed n Increase Increase
room filled with steam./sTd &
W Y sIg HALH ST A Th|
II. Person travelled to place n Decrease Decrease
much above the sea level/@H%-
T Y TcAferen SHaTs W AT
fopar g3t =afl
III. Person as a result of some r Decrease Increase
pollen allergy caught cold with
thick mucus accumulation/
ORI o6 TSH o 10T TG
s TR foa SR @ ifea
e |
34. (2 points/3Th)
a b. c d.
True/ G&T v v
False /TTqd | v
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ROLL NO.

35. (2.5 points/3ieh)

Firingin arterial stretch
sensors decreases

l

Hypothalamus
releases
vasopressin

v

' Autoregulatory
widening of
vessels

—
/7

Arterial
pressure
falls

N\

Decreased blood

flowtotissue

D

)
l

Circulating renin
activates angiotensin

!

—

Firing in arterial stretch sensors decreases/ &HAT % YO Gageht & IE19 | |
Hypothalamus releases vasopressin/ TTENATHG TR S ot e

Arterial pressure falls/ €81 % e ¥ e
Autoregulatory widening of vessels/ anfEehTe o T - ST
Decreased blood flow to tissue/ 3T & T YaTE | FHHY
Circulating rennin activates angiotensin/ T T yaTed I 5T UfSTaie fe st afspaon

GENETICS & EVOLUTION / TS T3TehT 3R 3TEehtd (10.5 points/3idh)

36. (2 points/37h)

a. b. c. d.
Can be inferred / frshd ferrer ST &ehat | s
H
Cannot be inferred / fsrd &t feprer s v v v
HehdT

37. (2 points/3h) Answer/3TqC 5.5

cM

Calculations / ToFm:
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38. (2 points/3Th)
a.
Can be concluded / fI=rS faerTarT SITEaT® V4

Cannot be concluded / frsrs T2t fehTett ST HehdT @

39. (1.5 points/37eh)

a. b. c.
True/ G&t v V4
False / TTedd v
40. (3 points/3ih) ITT: 4.41 %

Calculations / Tomm;
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ROLL NO.

ECOLOGY / urfefRerfaeh (20.5 points/37)

41. (1.5 points/37eh)

a. b.
True/ @&t v
False / Teld v
42. (2 points/37h)
a. b.
True/ G&t v
False / TTedd v
43. (2 points/3Teh)
a. b.
True/ G&1 v
False / TTAd v
44, (2 points/37eh)
a b.
True/ &Y
False /TTdd | V4
45. (2 points/37h)
a. b.
True/ @81 w4
False / TTeld v
46. (2 points/3Teh)
a. b.
True/ &Y v

False / TTeld v
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ROLL NO.

47. (4 points/3Th)

No. | Predator activity /a0 sht AT | Predator adaptations [axet o Counter-adaptation by
HTHA prey /R g Tfd-STHe
1 | Searching for prey /RTeR i @ist " B, F
2 | Recognition of prey /R s VI E
EEEIE]
3 | Catching prey/RTeR I qsheAT I, Vv A D
4 | Handling prey/fRTeR st SyTerT I, IV C
48. (3 points/3Teh)
a. b. c d. e f.
True/ @& v V4
False / TTcId v V4 v v
49. (2 points/3Teh)
a. b. c d.
True/ @&t v v v
False / TTeId v
BIOSYTEMATICS / STREeHET (2 37F)
50. (2 points/37h)
a. b. c d.
True/ G&t v v
False /TTqd | v

*********END OF SECTION B @3‘ B GH1q whdkdb kbt

10




